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1) Aluminum and oxygen undergo synthesis to produce aluminum oxide. If you start with 0.82 moles of
aluminum, how many grams of aluminum oxide will you produce?
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2) 2NHsNOs - 2N; + 4H.0 + O
How many moles of oxygen gas are produced when 8.14 moles of ammonium nitrate decompose?
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3) &= KCIO; » &~ KC + 2 0O,
A mass of 25.0 g of potassium chlorate is decomposed by heating. How many grams of oxygen can be
prepared?

4) In the combustion of methane (CHa4), what mass of O; is required to produce 14.5 g of CO; if the reactio
has a 65.0% vyield? S . (1 SU _
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5) Water decomposes into its respective elements. If 47.2 g of H20 reacts to produce 4.78g of Hz, what is the percent
yield of H»?

6) 2Fe + 3C0O; - Fe0Os + 3CO
a. How many moles of carbon dioxide are needed to produce 2.2 moles of carbon monoxide?

b. How many moles of carbon monoxide will also be produced if 4.14 moles of iron (III) oxide were produced?

/) > NaOH > _ Na,0O + __ H)0O
How much water in grams (molar mass = 18g/mol) will be produced if 2.35 moles of sodium oxide (molar
mass = 62g/mol) are also produced?

8) 1 Fe + O, = — Fes
What is the limiting reagent when 4.7 moal ¢f it aind .94 mol of oxygen react to form iron (III) oxide?



9) 2CsHio + 130, > 8CO, + 10H:0
a. How many moles of oxygen are required to produce 34.0 g of carbon dioxide?

[1.25-I0; ]
b. If there are 210.32 g of C4H;0, then how many oxygen molecules are needed?

[ .4199 woﬁlhﬂ 0,

c. How many grams of C4Hio must be burned to produce 1.25 moles of water?
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10) Barlum nitrate ancl petassmm carbenate undergo a double replacement reaction.
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a. How many meles of barlum nitrate are needed to produce witt f barium carbonate?
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b. How many moles of potassium n

rt with 0.45 moles of barium nitrate?
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11) | caco — _IL ca0 + _| co,
If the reaction of 39.2 grams of CaCOs produces 10.2 grams of CaO, what is the percent yield?

12) _ MgClh + 1_’ HBr -> _ MgBr. + i HCI
a. If we started out with 3.50 grams of MgCl. (molar mass = 95 g/mol) and 10.9 grams of hydrobromic acid,

HBr (molar mass = 81g/mol), which reactant would be the limitin
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b. How much of the excess reactant will yeu have left?
4. 77’ T2 0 Hy are lCS‘L“)

13) 2 K + __ HSO04> _ Ha+ __ KiSOq
A quantity of potassium reacts with sulfuric acid to produced 0.10 g of hydrogen. How many grams of

potassium are requirb _
[f27 ﬂc’/j H ]

14y LBiCh + 7 HS — _ BiSs + & Ha
If the reaction of 10.5 grams of BiCls produces 1.79 grams of HCI, w

4 9.1

15) Elemental aluminum and chlorine under synthesis. What is the mass of aluminum chloride (molar mass =

133 g/mol) which could be formed from 15.1 g of Al (molar mass = 27 a/mol) and 33.1 g of Cl ( QJ)ll mass

71 g/mol)? How much excess reactant remains? ¢ “ y
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